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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Explain pro rata allotment of shares?

2. Define the term ‘Redeemable preference shares’.

3. What is weighted time ratio?

4. What is alteration of share capital?

5. A Ltd. Purchased land for ` 80,000 from B Ltd. It is issued equity shares of ` 10 each fully paid up in satisfaction of their claim. Make journal entries to record these transactions.

6. Raj Ltd. Issues20,000 equity shares of ` 10 each at par. The issues were underwritten by Ram & Co. for maximum commission permitted by law. The public applied for and received 16,000 shares. Calculate the commission payable to the underwriter. 

7. Redemption of 10,000 preference shares of ` 100 each was carried out of reserves and out of the issues of 4,000 shares of ` 100 each @ ` 95. What is the amount of capital redemption reserve account that is required?

8. Journalize the following issues:

(i) A company issued 1,000, 6% Debentures of ` 100 each at par.

(ii) A company issued 1,000, 6% Debentures of ` 100 each at 10% premium

(iii) A company issued 1,000, 6% Debentures of ` 100 each at 10% discount.

9. From the following particulars, determine the maximum remuneration available to a full time director of a manufacturing company.

The Profit & Loss Account of the company showed a net profit of ` 40,00,000 after taking into account of the following items.







`                                                           

(a) Depreciation (including special depreciation of `40,000)             1,00,000

(b) Provision for income tax                                         


    2,00,000

(c) Donation to political parties                                                              50,000

(d) Ex-gratia payment to a worker                                                          10,000

(e) Capital profit on sale of assets                                                                   15,000 

10. Show how will you exhibit the following items in the balance sheet of a company as on 31.12.11:

(i) Original cost of building `2,00,000

(ii) Book value of building on 1.1.11 `1,40,000

(iii) Depreciation to be written off at 5% on W.D.V.

11. A company was incorporated on 1-2-98 to purchase the business of Sadhan Co. as from 1st November 1997.There were 10 employees before incorporation but 5 more were appointed on       1-2-98.You are required to ascertain the weighted time ratio for dividing salaries between the pre and post incorporation periods, accounts are finalized on 31st October.

12. Calculate the amount of good will on the basis of three years purchase of the last five years’ average profits. The profits for the last five years are:

    `
 I Year                   
  4,800

II Year                    
  7,200

III Year                   
10,000

IV Year                   
  3,000

[image: image1]V Year                          5,000
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. X Ltd issued 30,000 equity shares of `10 each. The issue was underwritten as follows:

      A :3 0%   B :30%   C :20%.  However, the company received applications for 25,000 shares      

      only. Determine the liability of the respective underwriters.
	Particulars                                                   `                        Particulars                               `

	To office expenses          
                    54,000

To Formation expenses 
             

 (written off)                                            10,000

To Stationery and Postage                         5,000

To Selling expenses                                 60,000              

To Directors fees                                      20,000

 To Net Profit                                           76,000                                                                                               

                                                              ------------                                           

                                                               2,25,000
	By Gross Profit b/d                         2,25,000                      

                                                      -------------

                                                        2,25,000                 




14. Ganesh Limited. was registered on 1.7.97 to acquire the running business of Suneel and Co., with effect from 1.1.97. The following was the profit and loss of the company on 31.12.97.

You are required to prepare a statement showing profit earned by the company in the pre and post – incorporation periods. The total sales for the year took place in the ratio of 1: 2 before and after incorporation respectively.

15. A company has 10,000 9% redeemable preference shares of `100.each fully paid. The company decides to redeem the shares on 31st Dec 2014 at a premium of 10%. The company makes the following issues:

(a) 4,000 8%debentures of `100 each 

(b) 6,000 equity shares of `100each at a premium of 10%

The issues were fully subscribed and all the amounts were received.The redemption was dully carried out. Give journal entries.

16. ABC company Limited passed resolution and got court permission for the reduction of its share capital by ` 5, 00,000 for the purposes as mentioned under  

(i) To write off the debit balance of P&L A/c of ` 2, 10,000

(ii) To reduce the value of Plant & Machinery by ` 90,000 and goodwill by `40000

(iii) To reduce the value of investments by `80, 000

The reduction was made by converting 50,000 preference shares of `20 each fully paid to the same number of preference shares of ` 15each fully paid and by converting 50,000 equity shares of ` 20 each on which `15 is paid up in to 50,000 equity shares of ` 10 each fully paid up. Pass journal entries to record the share capital reduction.  

17. On 31.12.1990, the trial balance of XYZ Co. Ltd., shows the provision for tax of `1,00,000 representing the provision of the previous year. The trial balance also shows income tax paid           ` 90,000.  
It is estimated that a provision of ` 1,40,000 is required for the current year’s income. Tax deducted at source while receiving interest on investments amount is ` 20,000. The gross amount of the interest was shown in the P & L A/C. Write the provision for income tax account.
18. Explain the meaning of ‘Profits prior to Incorporation’.

19. Write the differences between Debentures and Shares.
SECTION C — (2  × 1 5  = 30 marks)

Answer any TWO questions
20. X Co. Ltd. Issued 4,000 shares of ` 10 each at a premium of ` 2 per share. The  amount was payable as under:    

On application                 ` 3 per share

On allotment                    ` 4 per share (including premium)

On first call                      ` 3 per share

On second call                 ` 2 per share

The company received applications for 5,000 shares and the allotment was made as under:

(i) Applicants for 200 shares   - Nil

(ii) Applicants for 800 shares   - Full

(iii) Applicants for 4,000 shares – 3,200 shares

All money was duly received except the first call on 200 shares and final call on 300 shares. Pass journal entries and prepare balance sheet of X Co.Ltd. 

21. On 30th June 1998, the balance sheet of Arun Ltd. stood as follows.

	               Liabilities                                    `                     Assets                                 `

	 Share capital:

Authorized:    

15,000 6%                                                      Redeemable Preference 

Share  of ` 10 each    
                       1,50,000

50,000 Equity shares                                            

 of `10 each                                          5,00,000    

Paid up capital :

11,000 6% Redeemable                        1,10,000

 preference shares of 

`10 each .

30,000 Equity shares                  

 of  `10 each fully paid                         3,00,000     


P&LA/c
                                                 2,00,000

Reserve fund                                         2,00,000

Creditors                                                  20,000

                      ------------          

               8,30,000


	Sundry asset

Bank


	      6,20,000

      2,10,000

        --------------

        8,30,000

                  


On 6thApril 1998, the preference shares were redeemed at a premium of ` 4 per share. The company could not trace the holders of 1,200 preference shares. On 8th April 1998, a bonus issue of one fully paid equity shares for four shares held was made.

Show the journal entries to record the above transaction and also prepare balance sheet, after redemption.


22. Moon and star co.ltd.is a company with an authorized capital of `5,00,000 divided into 5000 equity shares of `100 each on 31 .12. 2003 of which, 2,500 shares were fully called up.  The following are the balances extracted from the ledger as on 31.12. 2003.

	Trail Balance of Moon & Start Ltd.

	Debit
	`
	Credit
	`

	Opening Stock
	50,000
	Sales
	3,25,000

	Purchases
	2,00,000
	Discount Received
	3,150

	Wages
	70,000
	P & L  A/c
	6,220

	Discount Allowed
	4,200
	Creditors
	35,200

	Insurance (upto 31.03.04)
	6,720
	Reserves
	25,000

	Salaries
	18.500
	Loan from Managing directors
	15,700

	Rent
	6,000
	Share Capital
	2,50,000

	General Expenses
	8,950
	
	

	Printing
	2,400
	
	

	Advertisement
	3,800
	
	

	Bonus
	10,500
	
	

	Debtors
	38,700
	
	

	Plant
	1,80,500
	
	

	Furniture
	17,100
	
	

	Bank
	34,700
	
	

	Bad debits
	3,200
	
	

	Call in arrears
	5,000
	
	

	
	6,60,270
	
	6,60,270


You are required to prepare profit and loss Account for the year ended 31. 12. 2003 and a balance sheet as on the date. The following further information is given:

(a)     Closing stock was valued at `191,500

(b) Depreciation on plant at 15%and on furniture at 105 and should be provided.

(c)     A tax provision of `8,000 is considered necessary.

(d) The directors declared an interim dividend on 15. 8. 03 for 6 months ending June 30,     

     2003@ 6%.

23. A company was incorporated on 30th June 1984 to acquire the business of Mohan as from   1st      

  January 1984. The accounts for the year ended 31st Dec.1984 disclosed the following.

(a) There was a gross profit of `2, 40,000

(b) The sales for the year amounted to ` 12, 00,000 of which `5, 40,000 were for the     

      first six months.

(c) The expenses debited to profit and loss account included

    `
                   Directors fees                                                           

15,000

 Bad debts                                                                


  3,600 

      Advertising (under a monthly contract of ` 1,000)    
         12,000

      Salaries                                                                          

64,000

      Preliminary expenses written off                                   

  5,000

      Donation to political parties given by the company       

  5,000

         Prepare a statement showing profit made before and after incorporation.
________________

[P.T.O.]
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